	2, 2022	End Date	Jan 25, 2023 2:00:00	PM EST	
Start Date <b>Jan 6</b> ,	2023 10:12:39 AM EST	Awarded Date	Not Yet Awarded		
LED AMP ENERGY CO	)RP			\$359,665.00	(26/26 items)
Bid Contact Anthony Posada <u>tony@ledampenergy.net</u> Ph 305-316-4690		A	ddress 6785 SW 19 Ti 33155 5300 SW 30Th 33312 Hollywood, F	I AVE. FT. LAUD	
NICHI	SB WBE S EXCEED PRESENT REQUIRMENTS ALL 2 A- ASRUM, SAMSUNG CHIP GHTING CATALOGUE INCLUDED	023 MODELS	nonywoou, r	2 33020	
Agency Notes:			Supplier Notes: REQUIRMENTS A NICHIA- ASRUM, ACE LIGHTING C/	LL 2023 MODELS SAMSUNG CHIP	i
ltem #	Line Item		Unit Price	Qty/Unit	Total Price
OPN2125910B1-01-01	Luminaire LED HMLED4 P3 30K HVOLT HGR A	AWS (High Mast) - First	Offer \$335.00	5 / each	\$1,675.00

			F	Exhibit 1 Page 2 of 21
OPN2125910B1-01-02	LUMINAIRE LED GE 480V ERL2 H27D530DGRAY GIT - First Offer	\$325.00	25 / each	\$8,125.00
Product Code:		Supplier Produc	<b>t Code:</b> PL500	)
Agency Notes:		Supplier Notes:	Brand Name	: G-COMIN
		ANY ANY COLOR,	WATTAGE VC	DLTAGE
I		I		

Supplier Product Code:         Supplier Product Code:         M-73-H           Supplier Notes:         Supplier Notes:         Supplier Notes:         Supplier Notes:           ANY COLOR, WATTAGE AND VOLT         ANY COLOR, WATTAGE AND VOLT         ANY COLOR, WATTAGE AND VOLT			I	P	age 3 of 21
PPN212591081-01-04 LUMINAIRE LED GE 480V ER2 H22C530DGRAY GIT - First Offer \$315.00 25 / each \$7,875 PPN212591081-01-04 LUMINAIRE LED GE 480V ER2 H22C530DGRAY GIT - First Offer \$315.00 25 / each \$7,875 PPN212591081-01-04 Supplier Yorduct Code: LM-79-H					
PPN212591081-01-04 LUMINAIRE LED GE 480V ER2 H22C530DGRAY GIT - First Offer \$315.00 25 / each \$7,875 PPN212591081-01-04 LUMINAIRE LED GE 480V ER2 H22C530DGRAY GIT - First Offer \$315.00 25 / each \$7,875 PPN212591081-01-04 Supplier Yorduct Code: LM-79-H					
PPN212591081-01-04 LUMINAIRE LED GE 480V ER2 H22C530DGRAY GIT - First Offer \$315.00 25 / each \$7,875 PPN212591081-01-04 LUMINAIRE LED GE 480V ER2 H22C530DGRAY GIT - First Offer \$315.00 25 / each \$7,875 PPN212591081-01-04 Supplier Yorduct Code: LM-79-H					
gency Notes:         Supplier Notes: Brand Name: ACE LED           ANY COLOR, WATTAGE AND YOLT         ANY COLOR, WATTAGE AND YOLT	OPN2125910B1-01-03	LUMINAIRE LED GE 120V ERL2 027D530DGRAY GIT - First Offer	\$315.00	25 / each	\$7,875.00
PPN2125910B1-01-04         LUMINAIRE LED GE 480V ER2 H27C530DGRAY GIT- First Offer         \$315.00         25 / each         \$7.875           Open2125910B1-01-04         LUMINAIRE LED GE 480V ER2 H27C530DGRAY GIT- First Offer         \$315.00         25 / each         \$7.875           Supplier Product Code: LW-79-H         Supplier Product Code: LW-79-H         Supplier Product Code: LW-79-H         \$100 PM 21 P	Product Code:				
PN212591081-01-04       LUMINAIRE LED GE 480V ER2 H27C530DGRAV GIT-First Offer       \$315.00       25 / each       \$7.875         PN212591081-01-04       LUMINAIRE LED GE 480V ER2 H27C530DGRAV GIT-First Offer       \$315.00       25 / each       \$7.875         product Gode:       Supplier Product Code: LM-79-H       Supplier Product Code: LM-79-H       Supplier Product Code: LM-79-H	Agency Notes:		Supplier Notes:	Brand Name:	ACE LED
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED			ANY COLOR, WAT	ITAGE AND VC	DLT
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED					
roduct Code: Supplier Product Code: LM-79-H gency Notes: Supplier Notes: Brand Name: ACE LED			#04E 00		#7 07F 07
gency Notes: Supplier Notes: Brand Name: ACE LED		LUIVIINAIKE LED GE 480V EKZ HZ7C530DGKAY GI I - HIST Offer		I I	
ANY COLOR, WATTAGE OR VOLT	Agency Notes:		Supplier Notes:	Brand Name:	ACE LED
			ANY COLOR, WAT	ITAGE OR VOL	T

				P	Exhibit 1 Page 4 of 21
	OPN2125910B1_01-05	I LIMINAIRE I ED GE 120V ERI 2 027C530DGRAY GIT - First Offer	\$335.00	25 / each	\$8 375 00
- 1-	OPN2125910B1–01-05	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer		25 / each <b>t Code:</b> PL-50	\$8,375.00
F	OPN2125910B1–01-05 Product Code: Agency Notes:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	\$335.00 Supplier Produc Supplier Notes:	t Code: PL-50	0
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes:	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes:	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN
F	Product Code:	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	Supplier Produc Supplier Notes: GRAY, WHITE, BL	t Code: PL-50 Brand Name:	0 : G-COMIN

			F	Exhibit 1 Page 5 of 21
OPN2125910B1-01-06	LUMINAIRE LED 480V ATB2 P604 480 R4 3K NL P7 SH - First Offer	\$435.00	250 / each	\$108,750.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code: ATM-6 Brand Name	51-ST79 ACE LIGHTING
		ANY COLOR, SMA INCLUDED	ART LIGHT: SH	ORTING CAP
OPN2125910B1-01-07	LUMINAIRE LED 480V ATB2 P604 480 R3 3K NL P7 SH - First Offer	\$435.00	80 / each	\$34,800.00
Product Code:		Supplier Produc	t Code: ATM-6	5-ST-79
Agency Notes:		Supplier Notes: CATALOGUE INC		ACE LIGHTING

			F	Exhibit 1 Page 6 of 21
OPN2125910B1-01-08	LUMINAIRE LED 120V ATB2 P604 MVOLT R4 3K NL P7 SH - First Offer	\$325.00	10 / each	\$3,250.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes: ANY COLOR 3K, 4	Brand Name	ACE LIGHTING
OPN2125910B1-01-09	LUMINAIRE LED 120V ATB2 P604 MVOLT R3 3K NL P7 SH - First Offer		10 / each	\$3,500.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Brand Name	ACE LIGHTING

			-	Exhibit 1 Page 7 of 21
			Г	
OPN2125910B1-01-10	LUMINAIRE LED 480V ATB0 P305 480 R3 3K NL P7 SH - First Offer	\$395.00	30 / each	\$11,850.00
	LUMINAIRE LED 480V ATB0 P305 480 R3 3K NL P7 SH - First Offer			
OPN2125910B1-01-10 Product Code: Agency Notes:	LUMINAIRE LED 480V ATB0 P305 480 R3 3K NL P7 SH - First Offer	\$395.00 Supplier Produc Supplier Notes:	t Code: ATL-2	50-480
Product Code:	LUMINAIRE LED 480V ATB0 P305 480 R3 3K NL P7 SH - First Offer LUMINAIRE LED 480V ATB2 P603 480 R4 3K NL P7 SH - First Offer	Supplier Produc Supplier Notes:	t Code: ATL-2	50-480
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc	t Code: ATL-2 Brand Name 50 / each t Code: ALM-I	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT
Product Code: Agency Notes: OPN2125910B1–01-11		Supplier Produc Supplier Notes: \$415.00	t Code: ATL-2 Brand Name 50 / each t Code: ALM-I	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED
Product Code: Agency Notes: OPN2125910B1–01-11 Product Code:		Supplier Produc Supplier Notes: \$415.00 Supplier Produc Supplier Notes:	t Code: ATL-2 Brand Name 50 / each t Code: ALM-1 Brand Name	50-480 :: SCE-LIGHTING \$20,750.00 P450-250WATT :: ACE LED

				5
OPN2125910B1-01-12	LUMINAIRE LED 480V ATB2 P601 480 R2 3K NL P7 SH - First Offer	\$450.00	25 / each	\$11,250.00
Product Code:		Supplier Produc	t Code: ALM-3	BOOSK
Agency Notes:		Supplier Notes:		
		SENSOR AND SHO	ORTING CAPS	INCLUDED
OPN2125910B1–01-13  Product Code:	LUMINAIRE LED 480V ATB0 P304 480 R4 3K NL P7 SH - First Offer	\$350.00 Supplier Produc	10 / each	\$3,500.00
Agency Notes:		Supplier Notes:		
		ANY COLOR 3K, S		PS INCLUDED,
		CATALOGUE INCL	LUDED.	

			-	Exhibit 1
		I	F	Page 9 of 21
OPN2125910B1-01-14	LUMINAIRE LED 480V ATB0 P304 480 R3 3K NL P7 SH - First Offer	\$455.00	20 / each	\$9,100.00
Product Code:		Supplier Produc		
Agency Notes:		Supplier Notes:	Brand Name	: BLACKBERRY
		SHORTING CAP/S		
,				
OPN2125910B1-01-15	LUMINAIRE LED 480V ATB2 P602 480 R3 3K NL P7 SH - First Offer		25 / each	\$12,375.00
Product Code:		Supplier Produc		
Agency Notes:		Supplier Notes:	1	
OPN2125910B1-01-16	LUMINAIRE LED 480V ATB2 P904 480 R4 3K SPCL NL P7 SH - First Offer		70 / each	\$27,650.00
Product Code:		Supplier Produc Supplier Notes:	t Code: PL-50 Brand Name	
Agency Notes:		300 WATT 480		

			Pa	Exhibit 1 age 10 of 21
			Ρε	age 10 of 21
OPN2125910B1-01-17	LUMINAIRE LED HOLOPHANE - MONGOOSE 480 VOLTAGE - First Offer		70 / each	\$27,650.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes: ALTERNATIVE TO WATT	Brand Name	: G-COMIN

		Pa	Exhibit 1 age 11 of 21
OPN2125910B1-01-18	LUMEC BY SIGNIFY - 480 Volts - First Offer \$295.00		\$2,950.00
Product Code: Agency Notes:	Supplier Produ Supplier Notes 30/50/80 WATT	: Brand Name	: G-COMIN
OPN2125910B1-01-19	LUMEC BY SIGNIFY - 120 Volts - First Offer \$295.00		\$2,950.00
Product Code: Agency Notes:	Supplier Produ Supplier Notes SAME AS ABOVI	: Brand Name	

			Pa	Exhibit 1 ge 12 of 21
OPN2125910B1-01-20	LUMEC BY SIGNIFY - 480 Volts - First Offer	\$295.00	5 / each	\$1,475.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code: HL110 Brand Name:	G.COMIN
OPN2125910B1–01-21 Product Code:	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS40 - First Offer	\$335.00 Supplier Produc	10 / each	\$3,350.00
Agency Notes:		Supplier Notes: G-COMIN 200WA	Brand Name:	

			Pa	Exhibit 1 age 13 of 21
OPN2125910B1-01-22	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS80 - First Offer	\$335.00	30 / each	\$10,050.00
Product Code: Agency Notes:		Supplier Produces:	<b>t Code:</b> L-500	
OPN2125910B1-01-23	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS60 - First Offer	\$335.00	30 / each	\$10,050.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		: G-COMIN
OPN2125910B1-01-24	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB0P30X - First Offer	\$335.00	50 / each	\$16,750.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		: G-COMIN
OPN2125910B1-01-25	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB0P30X - First Offer	\$335.00	10 / each	\$3,350.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		
OPN2125910B1-01-26	BR1060 GR - Tenon Top Pole Adapter - First Offer	\$39.00	10 / each	\$390.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		TTACHEMNENT SEE ATTACHMENY
		INVENTORY LIST		

Torres Electrical Sup	ply Co.		\$623,716.00	) (26/26 items)
Ph 772	Torres         Addres           es@torreselectrical.com         -286-5049           2-286-5496         -286-5496	ss <b>3190 SE Domi</b> Stuart, FL 349		
Qualifications <b>DBE</b>	ИВЕ			
Agency Notes:		Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OPN2125910B101-01	Luminaire LED HMLED4 P3 30K HVOLT HGR AWS (High Mast) - First Offer	\$1,728.87	5 / each	\$8,644.35
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Holophane
OPN2125910B101-02	LUMINAIRE LED GE 480V ERL2 H27D530DGRAY GIT - First Offer	\$820.22	25 / each	\$20,505.50
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		GE
OPN2125910B101-03	LUMINAIRE LED GE 120V ERL2 027D530DGRAY GIT - First Offer	\$820.22	25 / each	\$20,505.50
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		GE
OPN2125910B101-04	LUMINAIRE LED GE 480V ER2 H27C530DGRAY GIT - First Offer	\$820.22	25 / each	\$20,505.50
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		GE
OPN2125910B101-05	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	\$820.22	25 / each	\$20,505.50
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		GE
OPN2125910B101-06	LUMINAIRE LED 480V ATB2 P604 480 R4 3K NL P7 SH - First Offer	\$759.66	250 / each	\$189,915.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B101-07	LUMINAIRE LED 480V ATB2 P604 480 R3 3K NL P7 SH - First Offer	\$759.66	80 / each	\$60,772.80
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B101-08	LUMINAIRE LED 120V ATB2 P604 MVOLT R4 3K NL P7 SH - First Offer	\$733.46	10 / each	\$7,334.60
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B101-09	LUMINAIRE LED 120V ATB2 P604 MVOLT R3 3K NL P7 SH - First Offer	\$733.46	10 / each	\$7,334.60
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B101-10	LUMINAIRE LED 480V ATB0 P305 480 R3 3K NL P7 SH - First Offer	\$371.97	30 / each	\$11,159.10
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B101-11	LUMINAIRE LED 480V ATB2 P603 480 R4 3K NL P7 SH - First Offer	\$707.27	50 / each	\$35,363.50

Exhibit 1 Page 15 of 21

I		I		age 15 of 21
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B1-01-12	LUMINAIRE LED 480V ATB2 P601 480 R2 3K NL P7 SH - First Offer	\$660.11	25 / each	\$16,502.75
Product Code: Agency Notes:			,	/American Electric Acuity/ Autobahn
OPN2125910B1-01-13	LUMINAIRE LED 480V ATB0 P304 480 R4 3K NL P7 SH - First Offer	\$361.49	10 / each	\$3,614.90
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B1-01-14	LUMINAIRE LED 480V ATB0 P304 480 R3 3K NL P7 SH - First Offer	\$361.49	20 / each	\$7,229.80
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/ Autobahn
OPN2125910B1-01-15	LUMINAIRE LED 480V ATB2 P602 480 R3 3K NL P7 SH - First Offer	\$696.79	25 / each	\$17,419.75
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/ Autobahn
OPN2125910B1-01-16	LUMINAIRE LED 480V ATB2 P904 480 R4 3K SPCL NL P7 SH - First Offer	\$906.35	70 / each	\$63,444.50
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/ Autobahn
OPN2125910B1-01-17	LUMINAIRE LED HOLOPHANE - MONGOOSE 480 VOLTAGE - First Offer	\$1,204.97	70 / each	\$84,347.90
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Holophane
OPN2125910B1-01-18	LUMEC BY SIGNIFY - 480 Volts - First Offer	\$707.27	10 / each	\$7,072.70
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Lumec By Signify
OPN2125910B1-01-19	LUMEC BY SIGNIFY - 120 Volts - First Offer	\$707.27	10 / each	\$7,072.70
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Lumec By Signify
OPN2125910B1-01-20	LUMEC BY SIGNIFY - 480 Volts - First Offer	\$707.27	5 / each	\$3,536.35
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Lumec By Signify
OPN2125910B1-01-21	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS40 - First Offer	\$89.06	10 / each	\$890.60
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B1-01-22	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS80 - First Offer	\$120.50	30 / each	\$3,615.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B1-01-23	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS60 - First Offer	\$89.06	30 / each	\$2,671.80
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B1-01-24	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB0P30X - First Offer	\$39.82	50 / each	\$1,991.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		: Acuity/Autobahn
OPN2125910B1-01-25	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB0P30X - First Offer	\$39.82	10 / each	\$398.20
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		Acuity/Autobahn
OPN2125910B1-01-26	BR1060 GR - Tenon Top Pole Adapter - First Offer	\$136.21	10 / each	\$1,362.10
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		: Acuity/Holophane

Water Solutions Technology

Bid Contact Clifford Latty acc@watersolutech.com Ph 954-508-3877 Qualifications MBE SB WBE \$783,642.795 (26/26 items)

Address Building 9, 3765 Cocoplum Circle Coconut Creek , FL 33063

	r ug	-
Bid Notes	All listed branded items, are what is requested in original bid information from Broward County .	

Agency Notes:		Supplier Notes: All listed branded is requested in original bid informa Broward County .		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OPN2125910B1-01-01	Luminaire LED HMLED4 P3 30K HVOLT HGR AWS (High Mast) - First Offer	\$2,134.25	5 / each	\$10,671.25
Product Code: Agency Notes:		Supplier Produc Supplier Notes: (Holophane)		2125910B1–01-01 Acuity Brands,
OPN2125910B1-01-02	LUMINAIRE LED GE 480V ERL2 H27D530DGRAY GIT - First Offer	\$897.948	25 / each	\$22,448.70
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		I27D530DGRAYGIT GE
OPN2125910B1-01-03	LUMINAIRE LED GE 120V ERL2 027D530DGRAY GIT - First Offer	\$877.948	25 / each	\$21,948.70
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		27D530DGRAYGIT GE
OPN2125910B1-01-04	LUMINAIRE LED GE 480V ER2 H27C530DGRAY GIT - First Offer	\$977.948	25 / each	\$24,448.70
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		I27C530DGRAYGIT GE
OPN2125910B1-01-05	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT - First Offer	\$977.948	25 / each	\$24,448.70
Product Code: Agency Notes:		Supplier Product Code: ERL2027C530DGRAYGIT Supplier Notes: Brand Name: GE		
OPN2125910B1-01-06	LUMINAIRE LED 480V ATB2 P604 480 R4 3K NL P7 SH - First Offer	\$933.60	250 / each	\$233,400.00
Product Code: Agency Notes:		Supplier Produc P7 SH Supplier Notes: (Holophane)		P604 480 R4 3K NL Acuity Brands,
OPN2125910B1-01-07	LUMINAIRE LED 480V ATB2 P604 480 R3 3K NL P7 SH - First Offer	\$977.60	80 / each	\$78,208.00
Product Code: Agency Notes:		Supplier Produc P7 SH Supplier Notes: (Holophane)		P604 480 R3 3K NL Acuity Brands,
OPN2125910B1-01-08	LUMINAIRE LED 120V ATB2 P604 MVOLT R4 3K NL P7 SH - First Offer	\$958.85	10 / each	\$9,588.50
Product Code: Agency Notes:		Supplier Produc NL P7 SH Supplier Notes: (Holophane)		P604 MVOLT R4 3K Acuity Brands,
OPN2125910B1-01-09	LUMINAIRE LED 120V ATB2 P604 MVOLT R3 3K NL P7 SH - First Offer	\$958.85	10 / each	\$9,588.50
Product Code: Agency Notes:		Supplier Produc NL P7 SH Supplier Notes: (Holophane)		P604 MVOLT R3 3K Acuity Brands,
OPN2125910B1-01-10	LUMINAIRE LED 480V ATB0 P305 480 R3 3K NL P7 SH - First Offer	\$488.95	30 / each	\$14,668.50
Product Code: Agency Notes:		Supplier Produc P7 SH Supplier Notes: (Holophane)		P305 480 R3 3K NL Acuity Brands,
OPN2125910B1-01-11	LUMINAIRE LED 480V ATB2 P603 480 R4 3K NL P7 SH - First Offer	\$921.83	50 / each	\$46,091.50
Product Code: Agency Notes:		Supplier Produc P7 SH Supplier Notes: (Holophane)		P603 480 R4 3K NL Acuity Brands,
OPN2125910B1-01-12	LUMINAIRE LED 480V ATB2 P601 480 R2 3K NL P7 SH - First Offer	\$860.43	25 / each	\$21,510.75
Product Code: Agency Notes:			t Code: ATB2	P601 480 R2 3K NL

Exhibit 1 Page 17 of 21

OPN2125910B1-01-13	LUMINAIRE LED 480V ATB0 P304 480 R4 3K NL P7 SH - First Offer	\$471.23	10 / each	\$4,712.30
Product Code: Agency Notes:		<b>Supplier Product Code:</b> ATB0 P304 480 R4 3K NL P7 SH		
		Supplier Notes: I (Holophane)	Brand Name:	Acuity Brands,
OPN2125910B1-01-14	LUMINAIRE LED 480V ATB0 P304 480 R3 3K NL P7 SH - First Offer	\$471.23	20 / each	\$9,424.60
Product Code:			t Code: ATB0	P304 480 R3 3K NL
Agency Notes:		P7 SH <b>Supplier Notes: I</b> (Holophane)	Brand Name:	Acuity Brands,
OPN2125910B1-01-15	LUMINAIRE LED 480V ATB2 P602 480 R3 3K NL P7 SH - First Offer	\$908.69	25 / each	\$22,717.25
Product Code: Agency Notes:		Supplier Product P7 SH Supplier Notes: I (Holophane)		P602 480 R3 3K NL Acuity Brands,
OPN2125910B1-01-16	LUMINAIRE LED 480V ATB2 P904 480 R4 3K SPCL NL P7 SH - First Offer	\$1,181.47	70 / each	\$82,702.90
Product Code: Agency Notes:		Supplier Product SPCL NL P7 SH Supplier Notes: I (Holophane)		
OPN2125910B1-01-17	LUMINAIRE LED HOLOPHANE - MONGOOSE 480 VOLTAGE - First Offer	\$1,570.67	70 / each	\$109,946.90
Product Code: Agency Notes:		Supplier Product VOLTAGE Supplier Notes: I (Holophane)		
OPN2125910B1-01-18	LUMEC BY SIGNIFY - 480 Volts - First Offer	\$914.571	10 / each	\$9,145.71
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
OPN2125910B1–01-19  Product Code:	LUMEC BY SIGNIFY - 120 Volts - First Offer	\$914.571 Supplier Product	10 / each	\$9,145.71
Agency Notes:		Supplier Notes: I		lumec - Signify
OPN2125910B1-01-20	LUMEC BY SIGNIFY - 480 Volts - First Offer	\$914.571	5 / each	\$4,572.855
Product Code: Agency Notes:		Supplier Product Supplier Notes: I		lumec - Signify
OPN2125910B1-01-21	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS40 - First Offer	\$116.205	10 / each	\$1,162.05
Product Code: Agency Notes:		Supplier Product Supplier Notes: I		Acuity Brands
OPN2125910B1-01-22	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS80 - First Offer	\$157.289	30 / each	\$4,718.67
Product Code: Agency Notes:		Supplier Product Supplier Notes: I		Acuity Brands
OPN2125910B1-01-23	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS60 - First Offer	\$116.205	30 / each	\$3,486.15
Product Code: Agency Notes:		Supplier Product Supplier Notes: I		Acuity Brands
OPN2125910B1-01-24	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB0P30X - First Offer	\$52.01	50 / each	\$2,600.50
Product Code: Agency Notes:		Supplier Product Supplier Notes: I		Acuity Brands
OPN2125910B1-01-25	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB0P30X - First Offer	\$52.01	10 / each	\$520.10
Product Code: Agency Notes:		Supplier Product Supplier Notes: I		Acuity Brands
OPN2125910B1-01-26	BR1060 GR - Tenon Top Pole Adapter - First Offer	\$176.53	10 / each	\$1,765.30
Product Code: Agency Notes:		Supplier Product Supplier Notes: I		Acuity Brands

\$545,165.00 (19/26 items)

## Bid Contact Brad Berner

<u>sales@tsandl.us</u>

Ph 800-216-4044

Ph 800-21	16-4044			
Agency Notes:		Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OPN2125910B1-01-01	Luminaire LED HMLED4 P3 30K HVOLT HGR AWS (High Mast) - First Offer	\$1,798.50	5 / each	\$8,992.50
Product Code: Agency Notes:		Supplier Product Code: HMLED4 P3 30K HVOLT HGR AW Supplier Notes: Brand Name: Holophane		
OPN2125910B1-01-02	LUMINAIRE LED GE 480V ERL2 H27D530DGRAY GIT			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-03	LUMINAIRE LED GE 120V ERL2 027D530DGRAY GIT			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-04	LUMINAIRE LED GE 480V ER2 H27C530DGRAY GIT			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-05	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-06	LUMINAIRE LED 480V ATB2 P604 480 R4 3K NL P7 SH - First Offer	\$790.25	250 / each	\$197,562.50
Product Code: Agency Notes:		Supplier Produc P7 SH Supplier Notes:		2604 480 R4 3K NL AEL
OPN2125910B1-01-07	LUMINAIRE LED 480V ATB2 P604 480 R3 3K NL P7 SH - First Offer	\$790.25	80 / each	\$63,220.00
Product Code: Agency Notes:		Supplier Produc P7 SH Supplier Notes:		P604 480 R3 3K NL AEL
OPN2125910B1-01-08	LUMINAIRE LED 120V ATB2 P604 MVOLT R4 3K NL P7 SH - First Offer	\$763.00	10 / each	\$7,630.00
Product Code: Agency Notes:			t Code: ATB2	2604 MVOLT R4 3K
OPN2125910B1-01-09	LUMINAIRE LED 120V ATB2 P604 MVOLT R3 3K NL P7 SH - First Offer		10 / each	\$7,630.00
Product Code: Agency Notes:				P604 MVOLT R3 3K
OPN2125910B1-01-10	LUMINAIRE LED 480V ATB0 P305 480 R3 3K NL P7 SH - First Offer	\$387.00	30 / each	\$11,610.00
Product Code: Agency Notes:		Supplier Produc P7 SH Supplier Notes:		P305 480 R3 3K NL AEL
OPN2125910B1-01-11	LUMINAIRE LED 480V ATB2 P603 480 R4 3K NL P7 SH - First Offer	\$736.00	50 / each	\$36,800.00
Product Code: Agency Notes:		P7 SH		P603 480 R4 3K NL
OPN2125910B1-01-12	LUMINAIRE LED 480V ATB2 P601 480 R2 3K NL P7 SH - First Offer	Supplier Notes: \$687.00	25 / each	
Product Code: Agency Notes:	LUMINAIRE LED 4800 AT B2 POUT 480 R2 3K NL P7 SH - FIISLOHE			\$17,175.00 P601 480 R2 3K NL
		Supplier Notes:	Brand Name:	AEL
OPN2125910B1-01-13	LUMINAIRE LED 480V ATB0 P304 480 R4 3K NL P7 SH - First Offer	\$376.00	10 / each	\$3,760.00
Product Code: Agency Notes:		Supplier Product P7 SH Supplier Notes:		P304 480 R4 3K NL AEL

Exhibit 1

			P	age 19 of 21
Product Code: Agency Notes:		Supplier Product Code: ATB0 P304 480 R3 3K NL P7 SH Supplier Notes: Brand Name: AEL		
OPN2125910B1-01-15	LUMINAIRE LED 480V ATB2 P602 480 R3 3K NL P7 SH - First Offer	\$125.00	25 / each	\$18,125.00
Product Code:	LUMINAIRE LED 400V AI DZ POUZ 400 RS SKINL P7 SH - FIISL UIIEI			P602 480 R3 3K NL
Agency Notes:		P7 SH Supplier Notes:		
OPN2125910B1-01-16	LUMINAIRE LED 480V ATB2 P904 480 R4 3K SPCL NL P7 SH - First Offer	\$943.00	70 / each	\$66,010.00
Product Code: Agency Notes:		Supplier Product SPCL NL P7 SH Supplier Notes:		
OPN2125910B1-01-17	LUMINAIRE LED HOLOPHANE - MONGOOSE 480 VOLTAGE - First Offer	\$1,254.00	70 / each	\$87,780.00
Product Code: Agency Notes:		Supplier Produc LT MA GRSD PR7 Supplier Notes:	SH US NL	D P1 30K 480 WR : AEL
OPN2125910B1-01-18	LUMEC BY SIGNIFY - 480 Volts			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-19	LUMEC BY SIGNIFY - 120 Volts			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-20	LUMEC BY SIGNIFY - 480 Volts			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-21	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS40 - First Offer	\$93.00	10 / each	\$930.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		
OPN2125910B1-01-22	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS80 - First Offer	\$125.00	30 / each	\$3,750.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		
OPN2125910B1-01-23	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS60 - First Offer	\$93.00	30 / each	\$2,790.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		
OPN2125910B1-01-24	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB0P30X - First Offer	\$41.00	50 / each	\$2,050.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		
OPN2125910B1-01-25	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB0P30X - First Offer	\$41.00	10 / each	\$410.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		
OPN2125910B1-01-26	BR1060 GR - Tenon Top Pole Adapter - First Offer	\$142.00	10 / each	\$1,420.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		

WORLD	ELECTRIC	SUPPLY

Bid Contact Fred Skinner scott.alderman@worldelectricsupply.com Ph 239-898-8773

Address 2510 WEST COPANS ROAD POMPANO BEACH, FL 33069

\$562,570.05 (22/26 items)

Supplier Code VC0000115578

Agency Notes:		Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OPN2125910B1-01-01	Luminaire LED HMLED4 P3 30K HVOLT HGR AWS (High Mast) - First Offer	\$1,793.50	5 / each	\$8,967.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Brand Name: HOLOPHANE/ACUITY		

OPN2125910B1-01-02	LUMINAIRE LED GE 480V ERL2 H27D530DGRAY GIT			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-03	LUMINAIRE LED GE 120V ERL2 027D530DGRAY GIT			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-04	LUMINAIRE LED GE 480V ER2 H27C530DGRAY GIT			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-05	LUMINAIRE LED GE 120V ERL2 027C530DGRAY GIT			No Bids
Agency Notes:		Supplier Produc Supplier Notes:	t Code:	
OPN2125910B1-01-06	LUMINAIRE LED 480V ATB2 P604 480 R4 3K NL P7 SH - First Offer	\$788.05	250 / each	\$197,012.50
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/AC	Brand Name:	
OPN2125910B1-01-07	LUMINAIRE LED 480V ATB2 P604 480 R3 3K NL P7 SH - First Offer	\$788.05	80 / each	\$63,044.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/AC	Brand Name:	
OPN2125910B1-01-08	LUMINAIRE LED 120V ATB2 P604 MVOLT R4 3K NL P7 SH - First Offer	\$760.87	10 / each	\$7,608.70
Product Code: Agency Notes:		Supplier Product Supplier Notest HOLOPHANE/AC	Brand Name:	
OPN2125910B1-01-09	LUMINAIRE LED 120V ATB2 P604 MVOLT R3 3K NL P7 SH - First Offer	\$760.87	10 / each	\$7,608.70
Product Code: Agency Notes:		Supplier Product Supplier Notest HOLOPHANE/AC	Brand Name:	
OPN2125910B1-01-10	LUMINAIRE LED 480V ATB0 P305 480 R3 3K NL P7 SH - First Offer	\$385.87	30 / each	\$11,576.10
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/AC	Brand Name:	
OPN2125910B1-01-11	LUMINAIRE LED 480V ATB2 P603 480 R4 3K NL P7 SH - First Offer	\$733.70	50 / each	\$36,685.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/ACT	Brand Name:	
OPN2125910B1-01-12	LUMINAIRE LED 480V ATB2 P601 480 R2 3K NL P7 SH - First Offer	\$684.78	25 / each	\$17,119.50
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/AC	Brand Name:	
OPN2125910B1-01-13	LUMINAIRE LED 480V ATB0 P304 480 R4 3K NL P7 SH - First Offer	\$375.00	10 / each	\$3,750.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/AC	Brand Name:	
OPN2125910B1-01-14	LUMINAIRE LED 480V ATB0 P304 480 R3 3K NL P7 SH - First Offer	\$375.00	20 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Supplier Notest HOLOPHANE/AC	Brand Name:	
OPN2125910B1-01-15	LUMINAIRE LED 480V ATB2 P602 480 R3 3K NL P7 SH - First Offer	\$722.83	25 / each	\$18,070.75
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/AC	Brand Name:	
OPN2125910B1-01-16	LUMINAIRE LED 480V ATB2 P904 480 R4 3K SPCL NL P7 SH - First Offer		70 / each	\$65,815.40
Product Code: Agency Notes:		Supplier Product Supplier Notes:		

Agency Notes.		HOLOPHANE/AC		
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		
OPN2125910B1-01-26	BR1060 GR - Tenon Top Pole Adapter - First Offer	\$146.07	10 / each	\$1,460.70
Agency Notes:		Supplier Notes: HOLOPHANE/AC	UITY	
Product Code:		Supplier Produc		
OPN2125910B1-01-25	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB0P30X - First Offer	\$42.70	10 / each	\$427.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Brand Name: HOLOPHANE/ACUITY		
OPN2125910B1-01-24	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB0P30X - First Offer	\$42.70	50 / each	\$2,135.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/ACC	Brand Name	
OPN2125910B1-01-23	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS60 - First Offer	\$95.51	30 / each	\$2,865.30
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/AC	<b>Brand Name</b> UITY	
OPN2125910B1-01-22	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS80 - First Offer		30 / each	\$3,750.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/AC	Brand Name	
OPN2125910B1-01-21	HOUSE SIDE SHIELD LED LUMINAIRE AUTOBAHN ATB2HS40 - First Offer	\$92.39	10 / each	\$923.90
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Brand Name: LUMEC		: LUMEC
OPN2125910B1-01-20	LUMEC BY SIGNIFY - 480 Volts - First Offer		5 / each	\$3,750.00
Product Code: Agency Notes:		Supplier Produc Supplier Notes:		: LUMEC
OPN2125910B1-01-19	LUMEC BY SIGNIFY - 120 Volts - First Offer	\$750.00	10 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Brand Name: LUMEC		
OPN2125910B1-01-18	LUMEC BY SIGNIFY - 480 Volts - First Offer	\$750.00	10 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: HOLOPHANE/AC	Brand Name	:
OPN2125910B1-01-17	LUMINAIRE LED HOLOPHANE - MONGOOSE 480 VOLTAGE - First Offer		70 / each	\$87,500.00
		HOLOPHANE/AC	UITY	

